2. Find the mistakes in the following program code:


program progname

c description of what this program does


implicit none
---> integer nzs, z, i
     parameter (nzs=100)   ! remove extra spaces
real chla(nzs), prod(nzs),iklim(nzs), gmax ! remove z    

character legend*5(2)   ! this is actually fine

data legend /’depth’, ‘prod’/

c Initializing  (line starts with c not #)
c nzs is defined as a parameter (constant), can’t change it

c variable chl a is better off without a space

nzs = 120       c Number of depths, 1 m interval


chla(1) = 5.       !c Units: mg chl a/m3  /cannot do a whole array operation on chla, has to be element by element, chl(1), chl(2), etc.  Best to use a do loop
c Use nzs as the max in the do loop, 120 is also bigger 

c then the array is defined

do z=1,nzs 

c gmax and iklim haven’t been initialized yet


prod(z) = chla(z)*gmax*iklim(z)

c the print statement isn’t really informative, plus use

c  .eq. also no ‘then’, and print *


if (z .eq. 50) print *, ‘Now at depth’, z


enddo
c though not really wrong you will end up with a lot of 

c extra spaces between is and down.  Also, & is in the

c wrong column.  Use print *

print *, ‘The output of my program is ‘
    &    ,‘down below’

c integer i not defined

print 9000, (legend(i),i=1,2)


do z=1,nzs

print 9100,z,prod(z)

enddo

9000
format(a5,4x,a5)

c changed format statement, now same column width as the

c legend and reflecting correct data type
9100
format(i5,4x,f5.2)


end
